

Letting Date

Open to Traffic Date

Work Began Date

### Missouri Department of Transportation Contractor's Pay Estimate Summary

November 18, 2022

February 6, 2023

Pay Estimate Created Date: May 3, 2024

Notice to Proceed Date February 6, 2023

November 18, 2022

Progress Estimat 9	e Number	Contract ID Prime Contract	221118-H04 cor Apex Paving		/ Period Start / Period End	April 16, 20 May 1, 202	24 <b>N</b> e	riginal Contract Amount et Change Order Amount urrent Contract Amount	\$5,118,310.05 \$0.00 \$5,118,310.05
Approval Date									By User
May 3, 2024			Generated and	Approved	(and should be	considered	Draft) at	t the Project Office Level by	stottt1
May 3, 2024		R	eviewed and Appro	oved (and	should be cons	idered Draft	) at the	Resident Engineer Level by	stottt1
May 3, 2024				Controllers Office Level by	ramses1				
Original Completi	ion Date	Current Con	pletion Date	Actu	al Completion	Date	%	of Current Contract Amou	nt Complete
June 30, 202	24	June 3	0, 2024					84.43%	
	Contract	Informational Date	es		Milestones				
Date Description	Date Description Original Completion Date			ion Date	No Milestones Exist for Contract				
Acceptance Date									
Awarded Date December 6, 2022 December 6			December 6, 2022	2					

Contract Total Pay For Est	imate No. 9			
		This Estimate	Previous	To Date
221118-H04				
Tota	al Posted Items Pay	\$1,972,135.50	\$2,349,418.36	\$4,321,553.86
Gros	ss Item Adjustments	(\$113,822.53)	(\$175,237.13)	(\$289,059.66)
Ince	entive	\$0.00	\$0.00	\$0.00
Disir	ncentive	\$0.00	\$0.00	\$0.00
Liqu	ıidated Damage	\$0.00	\$0.00	\$0.00
Othe	er Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$2,174,181.23	\$4,032,494.20
<b>Contract Total Payable Thi</b>	is Estimate:	\$1,858,312.97		

#### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount		
JSE0087	0030	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	TONS	\$46.590	2,475.9	\$115,352.18		
	0060	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$88.720	19,011.17	\$1,686,671.00		
	0800	4071005	TACK COAT	GAL	\$2.840	5,415	\$15,378.60		
	0150	6181000	MOBILIZATION	LS	\$136,905.620	1	\$136,905.62		
	0190	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$23.770	372.3	\$8,849.57		
	0210	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$5.130	1,750.2	\$8,978.53		
Project JSE0087 - Total									
Overall - T	otal						\$1,972,135.50		

#### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		nents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JSE0087	0030	MISC.	Material			-2,475.9	\$46.59	(\$115,352.18)
	0030	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user collie1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	2,475.9	\$46.59	\$115,352.18
	0040	GRAVEL (A) OR CRUSHED STONE (B)	Material			-54	\$138.82	(\$7,496.28)

Revision 3/23/2023 Page 1 of 11



### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 3, 2024

Progress Estimate Number
9
Contract ID 221118-H04 Pay Period Start April 16, 2024 Original Contract Amount Sp. 118,310.05
Prime Contract ID 221118-H04 Pay Period End May 1, 2024 Net Change Order Amount Current Contract Amount Sp. 118,310.05

ect ber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
087	0040	GRAVEL (A) OR CRUSHED STONE (B)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0013) due to user collie1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	54	\$138.82	\$7,496.28
	0050	TYPE A2 SHOULDER	Material			-1,909.3	\$137.42	(\$262,376.01
	0050	TYPE A2 SHOULDER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0014) due to user collie1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	1,909.3	\$137.42	\$262,376.01
	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,901.12	(\$4.65)	(\$8,849.03
	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,757.65	(\$4.65)	(\$8,181.23)
	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,025.13	(\$4.65)	(\$4,771.61)
	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,074.65	(\$4.65)	(\$9,656.75
	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,248.37	(\$4.65)	(\$10,465.35)
	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,132.37	(\$4.65)	(\$9,925.41
	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,236.98	(\$4.65)	(\$10,412.34
	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,081.44	(\$4.65)	(\$5,033.71
	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,715.35	(\$4.65)	(\$7,984.34
	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,322.35	(\$4.65)	(\$6,155.06
	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,515.76	(\$4.65)	(\$7,055.32
	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Other Item Adjustment	Asphalt Cement Price Adjustment	BP-1 placement of 19011.17 tons			(\$25,332.38
	0800	TACK COAT	Material			-24,310	\$2.84	(\$69,040.40
	0800	TACK COAT	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0015) due to user stottt1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	24,310	\$2.84	\$69,040.40
	0100	3 IN. CONCRETE MEDIAN STRIP	Material			-6.5	\$60.00	(\$390.00
	0100	3 IN. CONCRETE MEDIAN STRIP	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0016) due to user collie1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	6.5	\$60.00	\$390.00

Revision 3/23/2023 Page 2 of 11



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	Contract Project Information					
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work				
JSE0087	FAS- S704(079)	Resurface	114	STODDARD	from Route 25 to Route 60						
Totals by J	Job Numbers	s									
JSE0087					This Estimate	Previous	To Date				
		Item Pay			\$1,972,135.50	\$2,349,418.36	\$4,321,553.86				
	Gross I	tem Adjustme			(\$113,822.53)	(\$175,237.13)	(\$289,059.66)				
			Gross	Item Pay	\$1,858,312.97	\$2,174,181.23	\$4,032,494.20				
	Incentiv	ve			\$0.00	\$0.00	\$0.00				
	Disince	entive			\$0.00	\$0.00	\$0.00				
		ted Damages			\$0.00	\$0.00	\$0.00				
	Other C	Contract Adjustments			\$0.00	\$0.00	\$0.00				

Revision 3/23/2023 Page 3 of 11



### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JSE0087, Item 3049910, Project Item Line Number 0030, Material Set 304991096, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	material reports need added to contract	collie1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSE0087, Item 3049910, Project Item Line Number 0030, Material Set 304991096, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	material reports need added to contract	collie1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSE0087, Item 3105002, Project Item Line Number 0040, Material Set 310500296, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	material reports need added to contract	collie1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSE0087, Item 4010150, Project Item Line Number 0050, Material Set 401015096, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	material reports need added to contract	collie1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSE0087, Item 4071005, Project Item Line Number 0080, Material Set 407100596, Material 1015EASS1H - Emulsified Asphalt SS-1H, Acceptance Action Generic AspEmulsion is insufficient.	material reports need added to contract	stottt1	Overridden
Estimate Exception Type: Insufficient Materials: Project JSE0087, Item 6083003, Project Item Line Number 0100, Material Set 608300396, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	material reports need added to contract	collie1	Overridden
Estimate Exception Type: Item Overrun: Contract 221118-H04, Contract Project JSE0087, Project Item Line Number 0050, Contract Line Item Number 0050, Item 4010150, Minor Item.	change order needs to be written on this item	collie1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 221118-H04, Contract Project JSE0087, Project Item Line Number 0200, Contract Line Item Number 0200, Item 6221003, Minor Item.	change order needs to be written on this item	collie1	Acknowledged

Revision 3/23/2023 Page 4 of 11



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221118-H04	JSE0087	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$2,400.00	\$2,400.00
		0001	0020	2159910	MISC.SHAPING SLOPES CLASS III -MODIFIED MATERIAL REQUIREMENTS	9.00	0.00	9.00	100F	8.60	\$1,400.00	\$12,040.00
		0001	0030	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	4,951.80	0.00	4,951.80	TONS	2,475.90	\$46.59	\$115,352.18
		0001	0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	54.00	0.00	54.00	TONS	54.00	\$138.82	\$7,496.28
		0001	0050	4010150	TYPE A2 SHOULDER	1,083.50	0.00	1,083.50	SQYD	1,909.30	\$137.42	\$262,376.01
		0001	0060	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	39,134.60	0.00	39,134.60	TONS	31,415.62	\$88.72	\$2,787,193.81
		0001	0070	4011213	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-3)	6,201.20	0.00	6,201.20	TONS	5,947.91	\$91.55	\$544,531.16
		0001	0080	4071005	TACK COAT	24,310.00	0.00	24,310.00	GAL	24,310.00	\$2.84	\$69,040.40
		0001	0090	4134000	BITUMINOUS FOG SEAL	8,739.00	0.00	8,739.00	GAL	0.00	\$1.00	\$0.00
		0001	0100	6083003	3 IN. CONCRETE MEDIAN STRIP	6.50	0.00	6.50	SQYD	6.50	\$60.00	\$390.00
		0001	0110	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$0.00	\$0.00
		0001	0120	6161005	CONSTRUCTION SIGNS	1,932.00	0.00	1,932.00	SQFT	1,206.00	\$6.00	\$7,236.00
		0001	0130	6161025	CHANNELIZER (TRIM LINE)	50.00	0.00	50.00	EA	50.00	\$18.00	\$900.00
		0001	0140	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	1.50	\$3,000.00	\$4,500.00
		0001	0150	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$136,905.62	\$136,905.62
		0001	0160	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	88.00	0.00	88.00	LF	0.00	\$30.00	\$0.00
		0001	0170	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	157,874.00	0.00	157,874.00	LF	0.00	\$0.14	\$0.00
		0001	0180	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	42,103.00	0.00	42,103.00	LF	0.00	\$0.13	\$0.00
		0001	0190	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	2,140.00	0.00	2,140.00	SQYD	1,418.50	\$23.77	\$33,717.74
		0001	0200	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	1,085.00	0.00	1,085.00	SQYD	1,909.00	\$47.80	\$91,250.20
		0001	0210	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	12,999.00	0.00	12,999.00	SQYD	6,203.60	\$5.13	\$31,824.47
		0001	0220	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,356.90	0.00	1,356.90	STA	0.00	\$21.28	\$0.00
		0010	0230	6061060	MGS GUARDRAIL	200.00	0.00	200.00	LF	200.00	\$32.00	\$6,400.00
		0010	0240	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$4,000.00	\$16,000.00
		0010	0250	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$3,400.00	\$13,600.00
		0010	0255	6063017	TYPE C CRASHWORTHY END TERMINAL	4.00	0.00	4.00	EA	4.00	\$31,000.00	\$124,000.00
		0070	0260	7039902	MISC.BARRIER END MODIFICATION	4.00	0.00	4.00	EA	4.00	\$6,800.00	\$27,200.00
		0071	0270	7039902	MISC.BARRIER END MODIFICATION	4.00	0.00	4.00	EA	4.00	\$6,800.00	\$27,200.00
	Project J	SE0087 - To	otal Value	Posted to E	late as of Report Generated Date							\$4,321,553.87
221118-H04 Ove	erall - Total	Value Post	ted to Dat	te as of Repo	ort Generated Date							\$4,321,553.87

Page 5 of 11 Revision 3/23/2023



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JSE0087

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	3049910	MISC. AGGREGATE FOR BASE	4/30/24	5/3/24	2,475.90	TONS	Route 114, 1/2 plan qty	0		0		
0060	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	4/16/24	5/3/24	1,901.12	TONS	EBL	14.904		13.000		
			4/17/24	5/3/24	1,757.65	TONS	WBL	12.919		11.144		
			4/18/24	5/3/24	1,025.13	TONS	EBL	13.000		11.975		
			4/19/24	5/3/24	2,074.65	TONS	WBL	11.144		9.085		
			4/22/24	5/3/24	2,248.37	TONS	EBL	11.975		9.742		
			4/23/24	5/3/24	2,132.37	TONS	WBL	9.085		7.013		
			4/24/24	5/3/24	2,236.98	TONS	EBL	9.742		7.490		
			4/25/24	5/3/24	1,081.44	TONS	EBL	7.490		6.361		
			4/26/24	5/3/24	1,715.35	TONS	WBL	7.013		5.071		
			4/30/24	5/3/24	1,322.35	TONS	EBL	6.361		4.823		
			5/1/24	5/3/24	1,515.76	TONS	WBL	5.071		3.358		
0800	4071005	TACK COAT	4/16/24	5/3/24	1,452.00	GAL	EBL	14.904		13.000		
			4/17/24	5/3/24	1,452.00	GAL	WBL	12.919		11.144		
			4/18/24	5/3/24	678.00	GAL	EBL	13.00		11.975		
			4/19/24	5/3/24	1,355.00	GAL	WBL	11.144		9.085		
			4/22/24	5/3/24	478.00	GAL	EBL  **NOTE- Tack pay on this entry has been adjusted to keep the quantity to plan based on the excessive tack usage noted on previous days of paving.	11.975		9.742		
0150	6181000	MOBILIZATION	4/22/24	5/3/24	1.00	LS	Route 114	0		0		
0190	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	4/30/24	5/3/24	110.00	SQYD	F1128	9.274		9.283		
				5/3/24	130.30	SQYD	G0892	7,270		7.280		
				5/3/24	132.00	SQYD	G0894	7.729		7.739		
0210	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	4/30/24	5/3/24	291.70	SQYD	F1128					
				5/3/24	291.70	SQYD	G0892					
				5/3/24	291.70	SQYD	G0894					

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 3/23/2023 Page 6 of 11



JSE007   O000   Agustace   Specific   Spec	Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks															
AGGREGATE	riojost	Line	Bosciption		Adjustment				Amount	Kemane															
2024   Society	JSE0087	0030	AGGREGATE	Material		9		SYSTEM	\$115,352.18	Estimate Item Adjustment (0012) due to user collie1 overridding Payment															
						9		SYSTEM	(\$115,352.18)																
					- Total				\$0.00																
				Material - Tota	ıl				\$0.00																
CRUSHED STONE (B)   7		0030 -	Total						\$0.00																
2024   8		0040	CRUSHED	Material		7		SYSTEM	\$7,496.28	Estimate Item Adjustment (0016) due to user collie1 overridding Payment															
2024   Estimate Exemple (1006) due to user collet overridding Payment Estimate Exception 1 on the current Payment Estimate.						7		SYSTEM	(\$7,496.28)																
9 May 3, SYSTEM \$7,496.28   9 May 3, SYSTEM \$7,496.28   1-Total \$0.00   1-Tota						8		SYSTEM	\$7,496.28	Estimate Item Adjustment (0006) due to user collie1 overridding Payment															
2024   Estimate Item Adjustment (0013) due to user collet o veeridding Payment Estimate Exception 3 on the current Payment Estimate.						8		SYSTEM	(\$7,496.28)																
National   Total   So.00						9		SYSTEM	\$7,496.28	Estimate Item Adjustment (0013) due to user collie1 overridding Payment															
Material - Total   \$0.00						9		SYSTEM	(\$7,496.28)																
Name					- Total				\$0.00																
Name		0040 - Total	Material - Tota	ıl				\$0.00																	
SHOULDER								\$0.00																	
2024		0050		Material		6		SYSTEM	\$240,718.61	Estimate Item Adjustment (0006) due to user collie1 overridding Payment															
2024   Estimate Item Adjustment (0014) due to user collie1 overridding Payment Estimate Exception 2 on the current Payment Estimate.																					6		SYSTEM	(\$240,718.61)	
2024											7		SYSTEM	\$262,376.01	Estimate Item Adjustment (0014) due to user collie1 overridding Payment										
2024   Estimate Item Adjustment (0007) due to user collie1 overridding Payment Estimate Exception 2 on the current Payment Estimate.							7		SYSTEM	(\$262,376.01)															
2024  9 May 3, 2024  9 May 3, 2024  1 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user collie1 overridding Payment Estimate Exception 4 on the current Payment Estimate.  9 May 3, 2024  System (\$262,376.01)  50.00  Material - Total  Solution  Other Item Adjustment  ACAD 6 Mar 19, 2024  ACAD - Total  FUEL 6 Mar 19, 2024  6 Mar 19, stottt1 \$1,004.65 corrected fuel index for overrun qty for item during this estimate period index for an overrun of the current payment in the current payment estimate exception 4 on the current payment estimate.  \$0.00  **Control Item Acad Solution in the current payment estimate exception 4 on the current payment estimate.  \$0.00  **Control Item Acad Solution in the current payment estimate is solution in the current payment estimate.  \$0.00  **Control Item Acad Solution in the current payment estimate is solution in the current payment estimate.  \$0.00  **Control Item Acad Solution in the current payment estimate item Adjustment (\$684.16)  **Control Item Acad Solution in the current payment estimate item Adjustment (\$684.16)  **Control Item Acad Solution in the current payment estimate item Adjustment (\$684.16)  **Control Item Acad Solution in the current payment estimate item Adjustment (\$684.16)  **Control Item Acad Solution in the current payment estimate item Adjustment (\$684.16)  **Control Item Acad Solution in the current payment estimate item Adjustment (\$684.16)  **Control Item Acad Solution in the current payment estimate item Adjustment (\$684.16)  **Control Item Acad Solution in the current payment estimate item Adjustment (\$684.16)  **Control Item Acad Solution in the current payment estimate item Adjustment (\$684.16)  **Control Item Acad Solution in the current payment estimate item Adjustment (\$684.16)  **Control Item Acad Solution in the current payment estimate item Adjustment (\$684.16)  **Control Item Acad Solution in the current payment estimate item Adjustment (\$684.16)  **Control Item Acad Solution i						8		SYSTEM	\$262,376.01	Estimate Item Adjustment (0007) due to user collie1 overridding Payment															
2024 Estimate Item Adjustment (0014) due to user collie1 overridding Payment Estimate Exception 4 on the current Payment Estimate.  9 May 3, 2024 \$ \$0.00 \$ \$0.00 \$ \$ \$0.00 \$ \$ \$0.00 \$ \$ \$ \$						8		SYSTEM	(\$262,376.01)																
2024     50.00						9		SYSTEM	\$262,376.01	Estimate Item Adjustment (0014) due to user collie1 overridding Payment															
Material - Total  Other Item Adjustment  ACAD - Total  FUEL 6 Mar 19, 2024  6 Mar 19, stottt1 \$1,004.65 corrected fuel index for overrun qty for item during this estimate period index for an overrun state of the first stat						9		SYSTEM	(\$262,376.01)																
Other Item ACAD 6 Mar 19, 2024 (\$684.16) Asphalt Index calculations made for 1751.7 sq yd BB34-3  ACAD - Total (\$684.16)  FUEL 6 Mar 19, 2024 (\$1,004.65) corrected fuel index for overrun qty for item during this estimate period 6 Mar 19, stottt1 \$36,371.40 incorrectly calculated fuel index for an overrun					- Total				\$0.00																
Adjustment  ACAD - Total (\$684.16)  FUEL 6 Mar 19, 2024  6 Mar 19, stottt1 \$1,004.65 corrected fuel index for overrun qty for item during this estimate period				Material - Tota	ıl				\$0.00																
FUEL 6 Mar 19, stottt1 \$1,004.65 corrected fuel index for overrun qty for item during this estimate period 6 Mar 19, stottt1 \$36,371.40 incorrectly calculated fuel index for an overrun					ACAD	6		stottt1	(\$684.16)	Asphalt Index calculations made for 1751.7 sq yd BB34-3															
2024  6 Mar 19, stottt1 \$36,371.40 incorrectly calculated fuel index for an overrun					ACAD - Tota	al			(\$684.16)																
					FUEL	6		stottt1	\$1,004.65	corrected fuel index for overrun qty for item during this estimate period															
2024						6	Mar 19, 2024	stottt1	\$36,371.40	incorrectly calculated fuel index for an overrun															
6 Mar 19, stottt1 \$54,448.37 incorrectly calculated fuel index for an overrun 2024						6	Mar 19,	stottt1	\$54,448.37	incorrectly calculated fuel index for an overrun															
FUEL - Total \$91,824.42					FUEL - Tota	ı			\$91,824.42																
Other Item Adjustment - Total \$91,140.26				Other Item Ad	justment - To	tal			\$91,140.26																
Overrun Overrun 6 Mar 18, SYSTEM (\$90,819.77) Reference Item Price Adjustment Index Adjustment Type applied is FUEL				Overrun	Overrun	6		SYSTEM	(\$90,819.77)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL															
7 Apr 2, SYSTEM (\$21,420.53) Reference Item Price Adjustment Index Adjustment Type applied is FUEL 2024						7		SYSTEM	(\$21,420.53)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL															
						otal			(\$112,240.30)																



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSE0087	0050	TYPE A2	Overrun - Tota	al				(\$112,240.30)	
		SHOULDER	Price FUEL		6	Mar 18, 2024	SYSTEM	(\$2,632.73)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					7	Apr 2, 2024	SYSTEM	(\$236.87)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$2,869.60)	
			Price FUEL - 1	Γotal				(\$2,869.60)	
	0050 -	Total						(\$23,969.64)	
	0060	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Material		8	Apr 16, 2024	SYSTEM	\$1,011,802.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user collie1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					8	Apr 16, 2024	SYSTEM	(\$1,011,802.80)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
			Other Item Adjustment	ACAD	7	Apr 2, 2024	stottt1	(\$5,929.27)	Asphalt Index for 4449.73 tons
					8	Apr 17, 2024	stottt1	(\$10,599.66)	Asphalt Index for April 1-15 7954.72 tons
					9	May 3, 2024	stottt1	(\$25,332.38)	BP-1 placement of 19011.17 tons
				ACAD - Tota	al			(\$41,861.31)	
			Other Item Ad	justment - To	otal			(\$41,861.31)	
			Price FUEL		7	Apr 2, 2024	SYSTEM	(\$21,155.09)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					8	Apr 16, 2024	SYSTEM	(\$37,026.35)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	May 3, 2024	SYSTEM	(\$88,490.15)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$146,671.59)	
			Price FUEL - 1	Гotal				(\$146,671.59)	
	0060 -	Total						(\$188,532.90)	
	0070	BIT. PAVEMENT MIXTURE PG64-22 (BP-3)	Other Item Adjustment	ACAD	7	Apr 2, 2024	stottt1	(\$8,892.13)	Asphalt Index for 5947.91 March
		. 00 . 22 (5. 0)		ACAD - Tota	al			(\$8,892.13)	
			Other Item Ad	justment - To	tal			(\$8,892.13)	
			Price FUEL		7	Apr 2, 2024	SYSTEM	(\$28,277.79)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$28,277.79)	
			Price FUEL - 1	Гotal				(\$28,277.79)	
	0070 -	Total						(\$37,169.92)	
	0800	TACK COAT	Material		7	Apr 2, 2024	SYSTEM	\$36,207.16	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user collie1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					7	Apr 2, 2024	SYSTEM	(\$36,207.16)	
					8	Apr 16, 2024	SYSTEM	\$53,661.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user collie1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					8	Apr 16, 2024	SYSTEM	(\$53,661.80)	
					9	May 3, 2024	SYSTEM	\$69,040.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user stottt1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					9	May 3, 2024	SYSTEM	(\$69,040.40)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0080 -	Total						\$0.00	
	0100	3 IN. CONCRETE	Material		3	Jun 29, 2023	SYSTEM	(\$390.00)	



ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
087	0100	MEDIAN STRIP	Material		4	Jan 2, 2024	SYSTEM	\$390.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user collie1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Jan 2, 2024	SYSTEM	(\$390.00)	
					5	Jan 16, 2024	SYSTEM	\$390.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user stottt1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Jan 16, 2024	SYSTEM	(\$390.00)	
					6	Mar 18, 2024	SYSTEM	\$390.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user collie1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					6	Mar 18, 2024	SYSTEM	(\$390.00)	
					7	Apr 2, 2024	SYSTEM	\$390.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user collie1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
					7	Apr 2, 2024	SYSTEM	(\$390.00)	
					8	Apr 16, 2024	SYSTEM	\$390.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user collie1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					8	Apr 16, 2024	SYSTEM	(\$390.00)	
					9	May 3, 2024	SYSTEM	\$390.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user collie1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					9	May 3, 2024	SYSTEM	(\$390.00)	
				- Total				(\$390.00)	
			Material - Tota	ıl				(\$390.00)	
			MaterialCredit		4	Jan 2, 2024	SYSTEM	\$390.00	
				- Total				\$390.00	
			MaterialCredit	- Total				\$390.00	
	0100 -	Total						\$0.00	
	0200	COLDMILLING BITUMINOUS PAVEMENT FOR	Overrun	Overrun	7	Apr 2, 2024	SYSTEM	(\$39,387.20)	
		REM		Overrun - T	otal			(\$39,387.20)	
			Overrun - Tota	al				(\$39,387.20)	
	0200 -	Total						(\$39,387.20)	
	0230	MGS GUARDRAIL	Construction Stockpile		3	Jun 29, 2023	SYSTEM	(\$3,150.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$3,150.00)	
			Construction	Stockpile - To				(\$3,150.00)	
			Construction Stockpile		1	Mar 17, 2023	SYSTEM	\$3,150.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI					62.450.00	
			STMI	- Total				\$3,150.00	
			STMI Construction		VII - Total			\$3,150.00	
	0230 -		Construction					\$3,150.00 \$0.00	
	<b>0230</b> - 0240	Total  MGS BRIDGE APP. TRANS SEC (REG/NO		Stockpile STI	MI - Total	Jun 29, 2023	SYSTEM	\$3,150.00 \$0.00 (\$8,900.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		MGS BRIDGE APP. TRANS	Construction Construction Stockpile	Stockpile STI	3		SYSTEM	\$3,150.00 \$0.00 (\$8,900.00) (\$8,900.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		MGS BRIDGE APP. TRANS SEC (REG/NO	Construction Stockpile	Stockpile STI	3 otal	2023		\$3,150.00 \$0.00 (\$8,900.00) (\$8,900.00) (\$8,900.00)	
		MGS BRIDGE APP. TRANS SEC (REG/NO	Construction Construction Stockpile	Stockpile STI - Total Stockpile - To	3		SYSTEM	\$3,150.00 \$0.00 (\$8,900.00) (\$8,900.00) (\$8,900.00) \$8,900.00	Payment Estimate Item Adjustment generated Stockpile Transaction  Payment Estimate Item Adjustment generated Stockpile Transaction
		MGS BRIDGE APP. TRANS SEC (REG/NO	Construction Stockpile  Construction Construction Stockpile  Construction Stockpile STMI	Stockpile STI  - Total  Stockpile - To  - Total	3 Otal	2023 Mar 17,		\$3,150.00 \$0.00 (\$8,900.00) (\$8,900.00) (\$8,900.00) \$8,900.00	
	0240	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Construction Stockpile Construction Construction Stockpile	Stockpile STI  - Total  Stockpile - To  - Total	3 Otal	2023 Mar 17,		\$3,150.00 \$0.00 (\$8,900.00) (\$8,900.00) (\$8,900.00) \$8,900.00 \$8,900.00	
		MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile  Construction Construction Stockpile  Construction Stockpile STMI	Stockpile STI  - Total  Stockpile - To  - Total	3 Otal	2023 Mar 17,		\$3,150.00 \$0.00 (\$8,900.00) (\$8,900.00) (\$8,900.00) \$8,900.00	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSE0087	0250	END TERMINAL (MASH)	Construction Stockpile	- Total				(\$7,500.00)	
			Construction Stockpile - Total					(\$7,500.00)	
			Construction Stockpile STMI		1	Mar 17, 2023	SYSTEM	\$7,500.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$7,500.00	
			Construction Stockpile STMI - Total					\$7,500.00	
	0250 - Total							\$0.00	
	0255	TYPE C CRASHWORTHY END TERMINAL	Construction Stockpile		3	Jun 29, 2023	SYSTEM	(\$75,492.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$75,492.00)	
			Construction Stockpile - Total					(\$75,492.00)	
			Construction Stockpile STMI		2	Apr 17, 2023	SYSTEM	\$75,492.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$75,492.00	
			Construction Stockpile STMI - Total					\$75,492.00	
	0255 - Total							\$0.00	
JSE0087 - Total							(\$289,059.66)		
Overall - Total							(\$289,059.66)		

# MoDOT

### Contract Adjustments for Contract - 221118-H04

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 11 of 11